
Welk getal ontbreekt t/m 5.000?

Oefening 1

1. 1.195  +     =  2.058

2. 1.918  +     =  2.877

3. 1.915  +     =  2.623

4. 2.300  +     =  3.535

5. 738  +     =  1.265

6. 1.920  +     =  2.955

7. 828  +     =  1.631

8. 2.179  +     =  2.889

9. 1.916  +     =  2.955

10. 1.674  +     =  3.125

Oefening 2

1. 1.874  +     =  3.655

2. 2.434  +     =  4.320

3. 2.436  +     =  3.797

4. 1.762  +     =  3.248

5. 1.653  +     =  2.898

6. 1.047  +     =  2.067

7. 985  +     =  1.873

8. 1.060  +     =  1.565

9. 1.610  +     =  2.680

10. 2.053  +     =  3.720

Oefening 3

1. 1.365  +     =  1.976

2. 1.224  +     =  1.952

3. 2.314  +     =  3.321

4. 2.045  +     =  2.960

5. 1.169  +     =  1.965

6. 2.408  +     =  3.376

7. 1.431  +     =  2.401

8. 2.085  +     =  3.660

9. 1.808  +     =  3.532

10. 2.418  +     =  3.981

Oefening 4

1. 1.477  +     =  2.383

2. 1.934  +     =  2.733

3. 2.386  +     =  4.679

4. 1.761  +     =  3.019

5. 1.763  +     =  2.730

6. 1.991  +     =  3.700

7. 1.257  +     =  2.414

8. 1.057  +     =  2.006

9. 2.139  +     =  3.990

10. 1.485  +     =  2.791
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Welk getal ontbreekt t/m 5.000? | ANTWOORDEN

Oefening 1

1. 1.195  +  863  =  2.058

2. 1.918  +  959  =  2.877

3. 1.915  +  708  =  2.623

4. 2.300  +  1.235  =  3.535

5. 738  +  527  =  1.265

6. 1.920  +  1.035  =  2.955

7. 828  +  803  =  1.631

8. 2.179  +  710  =  2.889

9. 1.916  +  1.039  =  2.955

10. 1.674  +  1.451  =  3.125

Oefening 2

1. 1.874  +  1.781  =  3.655

2. 2.434  +  1.886  =  4.320

3. 2.436  +  1.361  =  3.797

4. 1.762  +  1.486  =  3.248

5. 1.653  +  1.245  =  2.898

6. 1.047  +  1.020  =  2.067

7. 985  +  888  =  1.873

8. 1.060  +  505  =  1.565

9. 1.610  +  1.070  =  2.680

10. 2.053  +  1.667  =  3.720

Oefening 3

1. 1.365  +  611  =  1.976

2. 1.224  +  728  =  1.952

3. 2.314  +  1.007  =  3.321

4. 2.045  +  915  =  2.960

5. 1.169  +  796  =  1.965

6. 2.408  +  968  =  3.376

7. 1.431  +  970  =  2.401

8. 2.085  +  1.575  =  3.660

9. 1.808  +  1.724  =  3.532

10. 2.418  +  1.563  =  3.981

Oefening 4

1. 1.477  +  906  =  2.383

2. 1.934  +  799  =  2.733

3. 2.386  +  2.293  =  4.679

4. 1.761  +  1.258  =  3.019

5. 1.763  +  967  =  2.730

6. 1.991  +  1.709  =  3.700

7. 1.257  +  1.157  =  2.414

8. 1.057  +  949  =  2.006

9. 2.139  +  1.851  =  3.990

10. 1.485  +  1.306  =  2.791
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